# This list is for 2 weeks

		Quantity		Total	Walmart	Total
#	Item	in pack	Count	Count	price/ea	Price
1	Chef Boyardee mini Ravioli	4	250	1000	\$3.80	\$950.00
2	Mott's original applesauce	18	56	1008	\$6.07	\$339.92
3	Austin Toasy pnut butter crackers	27	75	2025	\$6.28	\$471.00
4	Quaker Granolas bars	24	84	2016	\$4.98	\$418.32
5	Caprisuns	30	67	2010	\$6.18	\$414.06
6	Nabisco cookie variety pack	12	84	1008	\$4.98	\$418.32
						\$3,011.62
					Plus 7% tax	\$210.81
					Total	\$3,222.43

5/11/2016 Walmart









I the true probability where is body



Save 10% on purchases up to \$250 when you open a Walmart Credit Card

Apply Now Learn More \*Subject to credit approval

\$38.23

Check Out

## Your cart: 6 items.



### Nabisco Chips Ahoy Nutter Butter & Oreo Cookies Variety Pack, 12ct

Sold by: Walmart.com

\$4.98

23.5¢/OZ

Check out to see shipping and pickup options.

1 🔻

Save for later

×



#### Capri Sun Fruit Punch Juice Drink, 6 fl oz, 30 count

Sold by: Walmart.com

\$6.18

3.4¢/FOZ

Check out to see shipping and pickup options.

1 -

Save for later

\*



Quaker Chewy 25% Less Sugar Granola Bars Variety Pack, 0.84 oz, 24 count

Sold by: Walmart.com

\$4.98

24.7¢/OZ

5/11/2016 Walmart

Check out to see shipping and pickup options.

	1 🕶	Save for later	×			
BOARDIE	Chef Boyardee Mini Beef Ravioli In Tomato & Meat Sauce, 4pk Sold by: Walmart.com					
	Check out to see ship	ping and pickup options.	<b>\$3.80</b> 6.3¢/OZ			
	1 🔻	Save for later	×			
Month 3	Mott's Original Applesauce, 4 oz, 18 count  Sold by: Walmart.com					
	Check out to see shipping and pickup options.					
	1 🔻	Save for later	×			
Accels franchism of the	Austin Toasty Crackers with Peanut Butter, 1.376 oz, 27 count  Sold by: Walmart.com					
	Charle que to soo ship	ning and nickup options	<b>\$6.28</b> 16.9¢/OZ			
	Check out to see shipping and pickup options.					
	1 •	Save for later	×			
Subtotal (6 item	\$32.29					
Value shipping	\$4.97					

5/11/2016 Walmart

Est. tax \$0.97

Based on 30263 Change

Est. total \$38.23

Check Out

\$0 \$50

Want FREE shipping? Just add \$17.71 and choose FREE Value shipping in checkout.

Learn more about shipping costs & FREE pickup

### Saved for later

You have no saved items right now.

# **Customers also bought these products**

Austin PB & J Cracker Sandwiches, 1.38 oz, 8...

28

Nabisco Newtons Fig Cookies, 2 oz, 12 count

29

Austin Grilled Cheese Cracker Sandwiches,...

52

Quak Variet

Be the first to save!

**Email address** 

Sign III











Help

Feedback

MoneyCenter

Privacy & Security

**CA Privacy Rights** 

Terms of Use

5/11/2016 Walmart

© Walmart Stores, Inc.

Ref: EUMZUDZJ4N

https://www.walmart.com/cart/